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—< Decimal Division Patterns >—

Write the missing dividend, divisor, or quotient for each division problem.

492+10= 7.6+ =0.76

49.2 = =0.492 + 100 =0.076
+ 1,000 = 0.0492 7.6+1,000 =

49.2+10,000 = 7.6+ = 0.00076

Preview

Please log in to download
the printable version of this worksheet.

e. 514+ =0.0514 f. 987.5+1,000=

g. 658.4+10,000 = h. 128.9 +10,000 =

i.  Miguelis going out on the lake in
a canoe that is 488 centimeters
long. To find the length in meters,
divide by 100. What is the length of
the canoe in meters?
answer:
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ANSWER KEY

—< Decimal Division Patterns >

Write the missing dividend, divisor, or quotient for each division problem.

49.2+10=4.92 7.6+10=0.76

49.2 + 100 = 0.492 7.6 =100 =0.076

Preview

Please log in to download
the printable version of this worksheet.
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